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- 7TV nunew 5o 32
And similarly an animal which was slaughtered in the Azohroh

Overview

The 13 challenged our previous assumption that "9 maintains 77TY2 ORI 1271
XN»TIRT WY, from a mawn which states the w'" maintains that 771v2 Yonwiw 1217 and
(even) a °n which was 7777v2 vnw1 need to be burnt. NdOIN explains how we derive
from this latter 7awn that 2"1wn is XNMTINT.
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And perforce 72 wonwaw 1910 is forbidden Xn™IRTH since even the 7vMwIY 77

771v2 is burnt, as it is evident in 2777 195 P92 where the Xn) states there -
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‘it is well understood if we assume that ;79Tv2 W P9I is RNMTINTA 70K, that

is why we make a decree to burn a 77912 qURRIR 7°7 on account of a nunwiw 73
TTa -
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And also this which "1 states, ‘and similarly by 757 is also appropriate -
$99%23 JIN) 599299 NIN NN N9 NN 19N 19) INMI ‘RNIINT IND NN IN NON

However, if you maintain that 771y ywonwiaw 191 is not n'"'a» MoK, what is the
meaning of '17917 397", since by the nnaa itself the prohibition (even for 72°9X) v nw)

is only J12977, so is it reasonable that we should decree that one needs to burn a 7
7rv2 nonwaw?!

! The rule is (101 7wn> 1597) that 2w which became 9100 need to be burnt. See 2,25 o°’nos. The o°non decreed that
7Y wnwaw 1N should also be burnt, for if they will merely be discarded (since they are M0OX), people may
mistakenly think that they were 12091w 0°w7p and are not being burnt, indicating that Y2001 2°w7p are not to be burnt.
2 See footnote # 1. This concern that one may confuse 77v2 Wwnwiw 121 with ¥9001w 2°wp is applicable only by a
7TV TUNWwAw nn2, but not with a 79Tv2 TUNWIY 7°0, since a 7°n cannot be 2°wTP. Nonetheless once the o°non made
this decree that 771v2 YWnNWIw P20 are to be burnt, they did not differentiate between 7°n and n%n2 and insisted that all
7TV WY 19911 be burnt (like 170010 2wTR).

3 By saying 7’11 191 instead of ‘lumping’ M 7172 in one statement, W' is teaching us two things, one that 711 also
needs to be burnt, and two that the burning of 7°11 is (merely 121) secondary to the burning by 7»i3, because there can
be confusion only by f»i2 (but not by 7°n).

4 This means that n"77n one may ‘shecht’ 771v2 1291 and eat it, etc. and certainly there is no reason to burn it.

> Once we assume that 2" P21 are Xn»IXT2 MOXR (even [XI71] A2°2X2), both by 70 and 7nn3, so the o»on made
one 7171 (including both 7°m 71n2) that they are to be burnt. However if 2"1wn are Xn»MR71 9nn, so the 0°»on made
a 771 that it should be MoR (including 7°m) and they included in this 77°13 that it should be burnt (so that it is not
confused with 2°w7p), how then can we include 7°17 in this 7713, which is so far removed from any Xn»x7 MO°R?! It
is the ultimate 77°1% 771!
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Summary
The fact that even a 712 7UnWwIw 71 needs to be burnt proves that 71v2 WRwIw 1910

1s XN»XT, for otherwise there would be no such 777,

Thinking it over
Is there a dispute between >"w1 and mo0In, how to explain this X773?°

6 See 19 7"72 W "7 "WN2 TWH DO
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